Al

A

SN DED
M =XE &5 2 =Y X HH(LSEEF/UHSnsS - 2[/SIIH)

Chol: DOEXE ZA(FRASHIH) (cre): 2igl)
SA B BRAEH) - HRAE - BAS ofl &ty T HIDE2
wsu 10,751,306 7,993,091 2,758,215
Y 2E & =28 N HE 8,987,155 6,243,282 2,743,873
SYFNYE 2 (FUHESERA) 5,039,513 3,548,766 1,490,747

SAIF=XE AEA 200,000 200,000 0
401 Al HI L S CHYI 200,000 200,000 0

01 Al 198,560 198,560 0
OZAl F=XH& A4 200,000,000 *99.28% 198,560
03 Al& 20 bI 1,440 1,440 0
OZAl F=XH& A& 200,000,000 *0.72% 1,440
SEFTUE ANEAE 1,520,000 840,000 680,000
401 AlEHIZL SO 1,520,000 840,000 680,000
01 AlZHI 1,514,600 833,952 680,648
OFHLEEXNS AREFIE &4
1,500,000, 0002 *99.64% 1,494,600
Ottt & HFRHAG RN B SFR7E &X
10,000,000 * 14! 10,000
O=g o1y &1
10,000,000 * 14 10,000
03 Al2=THHI 5,400 6,048 A\648
FHLENSE AR 2F=RE xd
1,500,000,000& *0. 36% 5,400
W& =XE 2I| 2XAY 12,000 12,000 0
402 QI2tAH=0l1d 12,000 12,000
01 QIEX2AMSE R (XM R) 12,000 12,000
Oul & =Xt& 2J| X3 A
3,000,000& * 402 12,000
oigid 3,307,513 196,766 3,110,747
801 OilHIH] 3,307,513 196,766 3,110,747
01 & EH0ilBIbI 107,513 196,766 A\89,253
Oouilblbl 107,513,000 *14] 107,513
BURERES 3,200,000 0 3,200,000
OUERES 3,200,000,000& *14] 3,200,000
FXE g2 (=UHESERA) 3,297,096 1,898,477 1,398,619
=g 24 1,356,049 1,162,477 193,572
101 @1 2A4H| 112,946 61,878 51,068
04 JI2HK22NHSE= 112,946 61,878 51,068
OctEF=t18 T 66,087
o012 85,960 5 x52F=x2H 44,700
oFFrY 85,9603 x525=+2H 8,940
oxdIErY
85,9602 x25 2 x2&H x150fk 6,447
oMNBIEER 6,000,000 * 14 6,000
OH=A HEFIHE T 46,859




fM DS
M =AY &5 2 S8 AN HH(WSLSR/UHELS - SR SIIE)
ool XA SNBR(ZHRSESH) CEE)
SA - ZE - S(B) - HRAY - BaS Ol ko4 T B DS
colee 85,9602 *3652 31,376
oxgag
(51,580 +527=+1H )+(68, 770& #5253+ 1)
6,259
oggZsd 85, 960 x252 *150% 3,224
oA EEZ 6,000,000 * 14! 6,000
201 et | 48,460 38,720 9,740
01 At 2teltl 23,220 21,720 1,500
OLer+EH| 2,720
o5t U NHEX - AR HEEXPE =
2 S0 M 80,0003 *23|* 120K 2~ 1,920
oQIZIAIE Y HEFX MEFIHE SR
clE WM& 400,000& *23] 800
oYtz 20,500
oZHE=XE Y AHFA - A EEFXE
& ACQIX X =
1,500,000 *4= 2| 6,000
SOINE YAl FXE X UER
7,500,000& * 14! 7,500
o202 A =XE 22X UR=
6,500,000 x 14! 6,500
oS DYEXY FAET X (22
500,000 * 14! 500
02 S22l 25,240 17,000 8,240
O3z £ HMAl 18,640
oZAFXE L StEFIRE OV &=
50,0002 *11CH*12& 6,600
STHFXT U SIAENPE OV S4I
70,0002 110+ 122 9,240
o022d A4 0|2 SSEFXE A &
&I 2 SRS 700,000 47 A 2,800
OAIZEHIR XL 6,600
oIZY=XE Y otA=F=x7E TV |RAZ
= 50,0002 *11CH* 122 6,600
308 AtXISMS0IH 1,194,643 1,041,879 152,764
11 B 2SH e E A4 HAE A I 1,194,643 1,041,879 152,764
O3g=x& 249 1,194,643,000 2 * 14 1,194,643
=XE Ald= ZHl 1,941,047 736,000 1,205,047
401 Al HIZ 201U 1,941,047 631,000 1,310,047
01 A& HI 1,941,047 631,000 1,310,047
O3EF=XE AEE FH|
200,000,000& * 14l 200,000
O3LEF=XE HIIX SHAE E=
1,741,047 0002 x 14 1,741,047
EY FEX HE(FUNESESA) 650,546 756,039 A 105,493
=X G 2tel 94,210 81,120 13,090




A WSHh
M FAE &5 2 =28 FEXN HS(WSUEF/USLS - SFRSIIHY)
C9l: 2Y FER O (ENESES|H) (c19): M2l)
SA B BRAEH) - HRAE - BAS ofl &ty S HIDE2
101 2l244| 94,210 81,120 13,090
04 I K22 XNSE+ 94,210 81,120 13,090
O=dxt & 94,210
o2y 85,9603 x2EH x5 #525= 44,700
oFgay 85,9603 x2& »52%= 8,940
e
85,9603 x2EH x252 *150% 6,447
oMeIEEE 6,000,000& *14] 6,000
&A= 20,000,000 x 14 20,000
oSZ224lt| 8,000&*x2&x152« 128 2,880
oll=H| 150,000 2 »23] 600
oAZe2eg
16, 1203 x2Z *12A1 2+ 123 4,643
=dx sXN749 AE=S JHl 556,336 674,919 118,583
201 Zer=2d| 301,336 313,419 A12,083
01 At 22l 19,000 0 19,000
Ogegt=EHI 19,000
cWSHIAAL HOIH 0l2 B4
19,000,000 * 14! 19,000
02 35244l 282,336 313,419 A31,083
O=30l= & HAl 183,480
o=2d FIX RAUSIMMHHLIA) &
= 55,0003 +95) -+ 123 62,700
osd =X PSSt SMUE
85,0003 *x950 2= * 123 96,900
oA LHAIAEI(MS) Sal=
158 +50,00021 123 9,000
oHEANT S LLSH LD SU=
40,0002 #3101 A+ 122 14,880
OAI2EbBI= X 98,856
o=2d FIX RUHBItMHLFA) =
A 2= 50,0003 820K« 12 49,200
o=2Y FIX SBAAHE(XEE) R
- 160,000& +6CH+ 123 11,520
SHIHAIAE R 24
82,000 20+ 122 1,968
CUSHFAAH(AZEYN) KA =
1,195,000& «12& 14,340
CUSHFANAE(GIERO_AH X 2242
) |X 2= 415,000« 12& 4,980
o=H I ANLEAAE FX 2=
754,000& 128 9,048
cuWSHY 2ttted T HAHALE R 2
= 650,000& 122 7,800
206 M =4l 12,000 20,000 28,000
01 X8l 12,000 20,000 8,000




A WSHh
M FAE &5 2 =28 FEXN HS(WSUEF/USLS - SFRSIIHY)
Chel: 28 FEX SX(=UHESLSIA) (SH9 &)
SA B BRAEH) - HRAE - BAS ofl &ty T HIDE2
OFFxt S5ZUI(CVS) R0 [E 257
g 12,000,000& * 14 12,000
401 AIEHIZL SO 243,000 341,500 98,500
01 Al 243,000 341,500 98,500
O=FX3X 7Y AIEE Ful & &X
100,000,000 * 14! 100,000
OL43t8sE FHISK HMHEAl & HX
o 4x 210,000& *1009H 2 21,000
O=gxtelgttts 088 OVt M&Z & W
Al 3,500,000 * 1090 £ 35,000
OSYFHR RRICHSAIAHI(CCTY) A&
35,000,000 #2012 70,000
O=Y =&t SHAAE 0|4
17,000,000 * 14| 17,000
HHE2AZH (S 1,764,151 1,749,809 14,342
IH2IHI(F=UHESESA) 1,392,772 1,378,430 14,342
el =gyl 1,392,772 1,378,430 14,342
101 28] 1,241,748 1,247,406 Ab,658
03 SR (RINHL) 22 XE+ 1,241,748 1,212,965 28,783
LA Z(2Y FEX ¢5Y) 1,190,855
=Jl22(1553)
2,379, 1403 «24H 128 685,193
oA 224+E(1553)
14,5813 24 H+20A| 2t 12 x150% 125,980
cAX=E(15658)
116,647 x24F 102 27,996
oFU2RE(16E53)
116,647 3 x24Z »20 2 *150% 83,986
cHEFII(15658)
2,379, 1402 x24E*120% 68,520
o¥d2+2(15658)
2,379, 1402 x24 B «5023] 57,100
SINESESy 95,040
- NS A 130,0002 x24H =123 37,440
-Ng=+d 200,000 x24H =122 57,600
oXNRrY 80,0003 x24H 128 23,040
oItERE 2,000,000& ~12& 24,000
O<ULpAHZ(SYFIE 2eld) 50,893
=JllZ=(1988 JIE)
2,503,610&~1&~12& 30,044
oAlZtRl 2R agt
15,3223 1 *20 A1 2H 12 % 150% 5,516
oA Xt 122,5743 13 =10 1,226
ogdIRsdY
122,574 x1 %202 % 150% 3,678
o¥d2+g(19538 JIF)
2,503,6102 x 12 +50%*22] 2,504




AN}
Y 2SAHI (LS (IIEH/IIEH
IHA2HHI(FIES CHel X
SA - FH - ERI(EA) - KIRAY - BES ofl &ty S =
SESEaS] 3,960
- dAZAHI 130,0002x1&+12& 1,560
-Nexd 200,000 x1& 128 2,400
SR = 80,0003 x1&» 122 960
cHEFIHI(19ES JIE)
2,503,610« 18 *120% 3,005
304 H=RE=S 151,024 131,024
04 22X (I 22X FHRELS S 151,024 131,024
OB=x 1898 2y3
36,926,000 * 14 36,926
SELEIELISER IS
53,600,000 * 14| 53,600
022X ALY 22
40,498,000 *14] 40,498
O32A &EXs 20,000,000 * 14 20,000
2 ZH(=HESE3I) 371,379 371,379 0
Jl=d 371,379 371,379 0
201 Zer=2gd| 288,219 288,219 0
01 Al2 2218 163,219 163,219 0
OYurrgy| =
65,350,000 * 14| 65,350
o=l S 53,769,000& » 14 53,769
Oll=Hl S4H 150,000% 37 H 23] 11,100
OAl At WEX HRIX SXtE
330, 0002 «2CH*50 33,000
02 35244l 125,000 125,000
O382= € NA 4
80,000,000& * 14| 80,000
OXH| 5
45,000,000 *14] 45,000
202 Ol 83,160 83,160
01 =UWKHI 69,720 69,720
O=Hbl 4 69,720,000 * 14! 69,720
02 H0oH| 13,440 13,440
OZH0Hl SHA &
160,000 <7 *12& 13,440




